Cycle 5 Coeff of Friction & Normal

Using CoF to get Fnet A

Cycle 5 Coeff of Friction & Normal

Using CoF to get Fnet B

The 60 kg box was already moving to the
left. The person applies a force of 400 N
to the box. The coefficient of friction
between the box and the floor is 0.7

The 50 kg box was already moving to the
left. The person applies a force of 400 N
to the box. The coefficient of friction
between the box and the floor is 0.7

0 He gains speed to the right.
O He gains speed to the left.

0 He gains speed to the right.
O He gains speed to the left.
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